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from microbit import *

from haizen import *

motor = WheelMotor()
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while True:

motor.set_speed(30,30)
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FLU2DTFHZTHIRCTED 7L 1R Z-REF I motor = WheelMotor() ~Tfa] ?

Python D X 5747 =7 MERIZ 077 I v 7T, 3GH (2 7R) LxhuckoTfohize /(A VARV R) %
KAILCa—74 v 27 LT, BV a—E LTAAARL 7 7 ANDY 72 GEEHK) O57-% Y T, motor =
WheelMotor() &\ 533 % A v 2 & v Z4l, motor £ W HERGHEA VRAEZ VA (F/23A 7V 227 ) v,
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haizen.py (&FFTHI30017¢HWHB) L s 774 rDduc - - -
class WheelMotor: #EA —NTE—R—T TR
def _init  (self)):
self.enc_count 1=0
self.enc_count r=0
Ce ) - -
def set_speed_I(self, speed_I):
if speed_1 < -100:
speed_l = -100
elif speed_1 > 100:
speed_l =100
if speed_1 >=0:
pin13.write_digital(0)
pinl4.write_analog((1023 / 100) * speed_1)
else:
pinl3.write_digital(1)
pinl4.write_analog((1023 / 100) * (-speed_1))
pinl6.write_analog((1023 / 100) * (-speed_r))
N (.
def set_speed (self, speed_l, speed_r):
self.set_speed_I(speed 1)
self.set_speed_r(speed_r)
Ce ) - -
class LineSensor: #TA VRV —T TR
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while True:
motor.set speed(30,30)
sensorl = pinl.read_analog() B4 v EPG T oD% v —Ofx A5,
sensor2 = pin2.read_analog()
if sensorl >=200 and sensor2 >= 200: HL, Mi7ed 200 AR,
motor.set_speed(0,0) E—R% LD,
break #0IRL 2T 5,
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def trace_line():
sensorl = pinl.read_analog()

sensor2 = pin2.read_analog()
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# motor.set_speed(30,30)

# sensorl = pinl.read_analog()

# sensor2 = pin2.read_analog()

# if sensorl >=200 and sensor2 >= 200:
# motor.set_speed(0,0)

# break

trace_line()

if sensorl < 200 and sensor2 < 200: e b ETHIUL
motor.set_speed(30,30) ¥ o3 il
elif sensor1 < 200 and sensor2 >= 200: A HT, AR RS
motor.set_speed(30, 0) FEICHES %,
elif sensor] >= 200 and sensor2 < 200: eI, GHAHLS
motor.set_speed(0, 30) HIcEES %,
else: Zzhbt (W5 edE) &6
motor.set_speed(0,0) L% 5,
o — FERSY fiFEEnt
#HBKRA 207750
while True:
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while True:
# motorset speed(30.30)
# sensor] = pin] read analog()
# sensor2 = pin2.read_analog()
# if sensor] >=200 and sensor2 >= 200:
# motor set speed(0,0)

# break

trace line()

marker len = find marker() ~—N—DRIZHET 2B EEE,

if marker len > 180: ZORIN180 b7 (2 ZIFFREOMREM:H »)
motor.set_speed(0,0) &OT
display.scroll('Kitchen') *vF v EeFRRL
reset() Uty MR E T, EFRD RS
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#DESY 2 —ILOETHiAM. HHHE 1R2-R{blGEH
from microbit import %
from haizen import %

motor = WheelMotor()

table_count =0

T=INAT v+ EIEIHET 5,
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#HBKRA 207750

while True:
# motorset speed(30.30)
# sensor] = pin] read analog()
# sensor2 = pin2read analog()
# if sensor] >=200 and sensor2 >= 200:
#  motorset speed(0,0)
# break
trace line()
marKer len = find marker()
if marker len > 180:

motor set speed(0,0)
display.scroll(Kitchen)
reset()

elif marker _len > 50: ZORINS0LUERS (2 2 I3FHEEDRHEM:D V)
table_count = table_count + 1 T—TNDhY v e 1H#Pe LT
display.show(table_count, wait = False) FA4ATL AT 5 TR,
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from microbit import %
from haizen import %

motor = WheelMotor()
table count = 0

target_table =0

max_table = 4
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#HIOT—TNFEFDR Yy + TR ST L
display.show(target_table)

while True:
if button_a.was_pressed():
target_table +=1
if target_table > max_table:
target_table =1
display.show(target_table)
if button_b.was_pressed():
if target_table == 0:
display.show(Image.NO)
else:
display.show(Image.YES)
sleep(1000)
break
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from microbit import %
from haizen import %
motor = WheelMotor()

table count = 0
target table = 0
max table = 4

serving = True
servo = Servo180(pin8)

servo.set_angle(90)
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while True:
# motorset speed(30.30)
# sensor] = pin] read analog()
# sensorZ2 = pin2 read analog()
# if sensor] >=200 and sensor2 >= 200:
# motorset speed(0,0)
# break
trace line()
marKer len = find marker()
if marker len > 180:
motorset speed(0,0)
display scroll(Kitchen)
reset()
elif marker len > 50:
table count = table_count + 1
display show(table_count, wait = False)
if table_count == target_table:
motor.set_speed(0,0)
sleep(2000)
servo.set_angle(0)
sleep(2000)

servo.set_angle(90)

serving = False
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from microbit import
from haizen import *

import neopixel neopixcel Zffi5 Z L ZHF

np = neopixel. NeoPixel(pin12,16) neopixcel % pinl2 ICX LT, ©27eLEh 16 THEHZ L
==
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np.fill((0, 0, 100))
np.show()
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np.fill((0,0,0))
np.show()
HBHE
np.clear()
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b v b1 serving ZHUCBIL C, FHHET True iICLTHWT, BlfEI D o725 False ICLTWET, ZOZH%Ef- T
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record_time =0 RUBRIRAH]
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motion_number = 0 BWERS % 0 ICVIHHROE
a— NGy fiREs
O VA=Y A NN trace_line QBT CFICE| VAL T 1 7T L aE AT
while True: <o
# motor.set_speed(30,30)
# (%)
# break

trace_line()

if running_time() - record_time > TIME_INTERVAL: | B\ T\ 352 & Ecifi 2 0%, ZNA TIME £ v &

record_time = running_time() — LB ETHh UL, FoERE A BN v BRI B R
if motion number == 0: b L, BfFETV0ELRD
#Z 2T Ltmi}i 72 W ZFDA L
motion_number = BEES %2 1 BT L TEY
elif motion_number == 1: b L, T 4%0
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motion_number = 0 BfER S % 0 FicLTHL
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np.show()

L3 UL, 0%D LED DAELE S Z LA TELT,

ftic b

i=1

np[i]=(0,0,100)

np.show()
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